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1) TRADE THEORY

Question No. 1/ Question ID 150 Marks: 2.00

What is the formula to find the 3 phase reactive power (PR) if the line voltage is V| " and line current is
‘IL’?

g AT dieeol 'V, ' § IR A8 e I, ' §, Al 3 ol Ufafhareia fad (PR) I HR &1 G T 572
) O B = 3V,|, Cosé (Chosen Option)

P =+/3V, |, Cosd (Chosen Option)
(B)O p = 3V, | CosB

Pr =3V |, CosB

(C)O Pr=V_IL
PI'=VL IL

0O = u@‘aﬁLlLSinB (Correct Alternative)

F= u@‘aﬁLlLSinB (Correct Alternative)

Question No. 2 / Question ID 400 Marks: 2.00
Which material is used as heat insulator in between the outer casing and inner tank of a geyser?

MR & S8 TARUT 3R HTAR® b P S FWAT AYP & TU | 5T Irdt o1 IuanT faam S g2
(A) O Paper

(B) O PVC (Chosen Option)
PVC (Chosen Option)

(C) O Glass wool (Correct Alternative)
T & (Correct Alternative)

(D) O Plastic
WIReh

Question No. 3 / Question ID 248 Marks: 2.00
What is the name of the relay as shown in the figure?

for o g=ifE 71U Rat &1 19 F1 82

(A) O Impulse relay
ey o




(B) O Mercury wetted contact relay (Chosen Option)
IRHI] A dicde Ral (Chosen Option) Global iTi YouTube Channel
(C) O Dry reed relay (Correct Alternative)
frs o (Correct Alternative)
(D) O Ferreed relay

Question No. 4 / Question ID 147 Marks: 2.00
Which type of effect occur if current is passed through a spirally wound coil?
gfe Iffd U I AU 12 Biga | faggd URT Halfed &1 S <l fd UHR &1 YT gial 872
(A) O Thermal effect
UYIiq
(B) O Magnetic effect (Correct Alternative) (Chosen Option)
' YHId (Correct Alternative) (Chosen Option)

(C) O Chemical effect

UYra
(D) O Heating effect

GIEREIC

Question No. 5/ Question ID 48 Marks: 2.00
How many electrons are there in the third shell of the copper atom?

e & TRATY & R B F fpad soae 82
(A) O 2

(B) O 18 (Correct Alternative) (Chosen Option)
18 (Correct Alternative) (Chosen Option)

(C)O 13
13

(D) O 29
29

Question No. 6 / Question ID 354 Marks: 2.00
Which electrical effect that the single phase analog energy meter works?
RTe ol TATET SHoif Hiex 69 faggd UHTd IR &1 odl 872
(A) O Chemical effect (Chosen Option)

UHId (Chosen Option)
(B) O Induction effect (Correct Alternative)
YHTd (Correct Alternative)
(C) O Electrostatic effect
fRR faggd uyra
(D) O Heating effect
UYIia

Question No. 7 / Question ID 141 Marks: 2.00
Which is the correct expression of capacitance ‘C’ if the electric charge is ‘Q’ and the voltage is V'?

g fagqgd 3w ‘Q quT dieedl V' g, aF TRl ‘C’ Bt el sifiyaafad o It 82
MO [&_

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)




B)O ¢c=WNa

C-Va Global iTi YouTube Channel
(C)O C=VvaQ

C=VQ
D =M
D)O - -

. i

G o

Question No. 8 / Question ID 333 Marks: 2.00

Which device provides the ignition voltage and act as choke in a HPSV lamp?
P 1 fSarzd UM diees UM &Rl & 3R HPSV U # Tid & &0 H I Sl 87
(A) O Leak transformer (Correct Alternative)
f¥aTa TWTHR (Correct Alternative)
(B) O Arctube
3(Tch el
(C) © Sodium vapour
Hifeas ary
(D) O High pressure aluminium oxide (Chosen Option)
3= qdld Q?"Iﬂﬁﬂq NS S (Chosen Option)

Question No. 9 / Question ID 214 Marks: 2.00
What is the total voltage of the circuit as shown in the figure?
i © fe@u 3R gfdhe &1 $d diees AT 82

(A) O 9.0 Volt (Chosen Option)
9.0 Volt (Chosen Option)




(B) O 7.5 Volt

7.5 Volt Global iTi YouTube Channel
(C) O 6.0 Volt

6.0 Volt

(D) O 1.5 Volt (Correct Alternative)
1.5 Volt (Correct Alternative)

Question No. 10 / Question ID 21 Marks: 2.00
What is starving in extinguishing of fire?
3T g H I ar 87
(A) O Using water to cool the fire (Chosen Option)
A BT SYTANT HRb dTIH HH HRAT (Chosen Option)
(B) O Preventing oxygen supply to the fire
Y BT SIS B MYl I AT
(C) O Adding fuel to the fire
3% & S et
(D) O Removing fuel element from the fire (Correct Alternative)
3T T g?FI e fAeTaT (Correct Alternative)

Question No. 11 / Question ID 225 Marks: 2.00
What is the effect of buckling defect in a lead acid battery?
T 3t et B e QI BT ol THTd TSl 672
(A) O Bending of the electrodes (Correct Alternative)

Eﬁﬂﬂ?ﬁ DT HS ©IHT (Correct Alternative)
(B) O Reducing the density of electrolyte
gAdCIARe B U HH BRI
(C) O Increasing the internal resistance (Chosen Option)
3T gfeRiy | q@ (Chosen Option)
(D) O Increasing the density of electrolyte
SAICIASC BT U-Tcd ST

Question No. 12 / Question ID 303 Marks: 2.00
Which instrument is used to test the insulation of new domestic wiring installation?
T TR TR SETARM & ST BT TRIE0T B & foIE fordy SUHRUT BT ITART foham STt 82
(A) O Series type ohmmeter (Chosen Option)
oft UHR 3 Hiex (Chosen Option)
(B) O Shunt type ohmmeter
T[T YBHR 3Ngl Hicx
(C) O Megger (Correct Alternative)
TR (Correct Alternative)

(D) O Multimeter
HecHIeY

Question No. 13 / Question ID 299 Marks: 2.00
Which type of insulation tape is used for domestic wiring?
IR AN & oY fhd TR & SR U &1 SGART T SiTdT 872
(A) O Rubber tape
TR Ty

(B) O Varnished cambric tape
IR Bty <U




(C) O PVC tape (Correct Alternative) (Chosen Option)
PVC 24 (Correct Alternative) (Chosen Option) Global iTi YouTube Channel
(D) O Friction tape

Question No. 14 / Question ID 425 Marks: 2.00
What is the condition for obtaining maximum efficiency from the transformer?

TIAHTHR ¥ e Gerdr UTed $H3A $I W<t 7 82

(A) O Copper loss > Iron loss
Copper loss > Iron loss

(B) O Copper loss < Iron loss
Copper loss < Iron loss

(C) O Copper loss = Iron loss (Correct Alternative) (Chosen Option)
Copper loss = Iron loss (Correct Alternative) (Chosen Option)

(D) ©O Copper loss = Eddy current loss
Copper loss = Eddy current loss

Question No. 15/ Question ID 89 Marks: 2.00
Which rule is applied to find the direction of magnetic fields in a solenoid coil?
TieHss igd H gab i &7 Bt A= A B & foIe o= a1 Fa9 A fan Sirar g2
(A) O Flemings left hand rule

[T &1 ST g1Y &1 fAgg
(B) O Right hand palm rule (Correct Alternative) (Chosen Option)
a'l'i%ef ey @t E'ai'ﬂ &1 g (Correct Alternative) (Chosen Option)
(C) O Cork screw rule
Fidb &p Fad
(D) O Flemings right hand rule
[T b1 Gl g1Y &1 |

Question No. 16 / Question ID 84 Marks: 2.00
What is the value of resistance of an open circuit?
TS ol Aithe & Uik &1 HH 31 82
(A) O Low
HH
(B) O Medium

(C) O Zero

LA
(D) O Infinity (Correct Alternative) (Chosen Option)

3[Hd (Correct Alternative) (Chosen Option)

Question No. 17 / Question ID 415 Marks: 2.00
Which loss of the transformer is determined by the short circuit test?
¢ Fiche TRiem gRT TRBER &1 ®F I g1 FHuffvd ot St 82
(A) O Hysteresis loss (Chosen Option)
iG] (Chosen Option)

(B) O Copper loss (Correct Alternative)

GIL ] ET&{ (Correct Alternative)
(C) O Windage loss

arg =T




(D) O Eddy current loss

HaR YT g1 Global iTi YouTube Channel
Question No. 18 / Question ID 315 Marks: 2.00
What is the working principle of the earth resistance tester?
Y-OfeRIY Ueidh BT B Rigid o g2

(A) O Selfinduction (Chosen Option)
W UROT (Chosen Option)
(B) © Mutual induction
31T ORI
(C) O Fleming’s left hand rule
TRITHT b1 §TU BT 1 fg|
(D) O Fall of potential method (Correct Alternative)
fava ura fafa (Correct Alternative)

Question No. 19 / Question ID 206 Marks: 2.00
Which formula is derived from the Faraday’s law of electrolysis?
H1S & fagygd smged & W T HF 11 Y g g3 82
A O M=zt
M=2ZtI
B)O M=zt
M=2Z/It
(C) O M=1t/Z(Chosen Option)
M =11t/Z (Chosen Option)

(D) O M=2ZIt (Correct Alternative)
M=2Z 1t (Correct Alternative)

Question No. 20 / Question ID 180 Marks: 2.00
What relationship is illustrated in the figure between the current and voltage wave?

o 7 URT IR dieesl TR & S 1 ey ST 71 872




Global iTi YouTube Channel

(A) O Current lags behind the voltage
YRT, dees & NS BA 7

(B) O Current and voltage are in out of phase
YRT T4 dieco Hal 8§ el o

(C) O Current leads ahead of the voltage
YRT, dlecs] & 3T Gl ©

(D) O Current and voltage are “in phase” (Correct Alternative) (Chosen Option)
YRT Ud diees IHHE Har d % (Correct Alternative) (Chosen Option)

Question No. 21 / Question ID 57 Marks: 2.00
Which is used to measure the size of the conductor?

hedex BT HHR AU & fore fordeT IuanT favar Srar g2
(A) O Bevel gauge
EENRISH

(B) O Vernier caliper
(C) © Depth gauge
RIS

(D) O Standard wire gauge (Correct Alternative) (Chosen Option)
IR TS (Correct Alternative) (Chosen Option)

Question No. 22 / Question ID 158 Marks: 2.00
What is the form factor (K¢) for the sinusoidal AC?

IS AC & foIT WiF thaex (K,) 77§72




(A) O 2.22

2.22 Global iTi YouTube Channel
(B) O 1.11 (Correct Alternative) (Chosen Option)

1.11 (Correct Alternative) (Chosen Option)
(C)O 444

4.44
(D) O 1.00

1.00

Question No. 23 / Question ID 351 Marks: 2.00
What is the name of the scale as shown in the figure?

o o quIfu 7TU U\M &1 1 7 87

(A) O Non-linear scale (Correct Alternative) (Chosen Option)
RIGT 9= (Correct Alternative) (Chosen Option)
(B) O Extended scale
foaTia Tam
(C) O Fine scale
Bl Whd
(D) O Linear scale

Question No. 24 / Question ID 39 Marks: 2.00
What is the purpose of the bedding insulation in the U.G. cable?
U.G. Had H o8 SR &1 I£3T T 82
(A) O Protect the metallic sheath against corrosion (Correct Alternative) (Chosen Option)
F9Y I &R FEAET (Correct Alternative) (Chosen Option)
(B) O Protect the cable from mechanical injury
&Had DI JiAS &fd I M

(C) O Protect the cable from moisture and gases

P DI TH T T J T




(D) O Protect armouring from atmospheric condition

P! argHeay fyfaal § ST

Global iTi YouTube Channel

Question No. 25 / Question ID 149
Which bulb will have lowest resistance?

b9 ged &1 UfaRIYy Ja HT g2

(A) O 240V, 100 W
240V, 100 W

(B) O 240V, 200 W
240V, 200 W

(C)O 240V, 60 W
240V, 60 W

(D) O 240V, 500 W (Correct Alternative) (Chosen Option)
240 V, 500 W (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 26 / Question ID 103
Which is a paramagnetic substance?
DI T Sreidad g uard g7
(A) O Glass

CaE)
(B) O Water
ofcl
(C) O Air (Correct Alternative)
dlY (Correct Alternative)
(D) O Steel (Chosen Option)
(Chosen Option)

Marks: 2.00

Question No. 27 / Question ID 200

Marks: 2.00

What is the value of phase current if the line current is 20 Amp in delta connection?

i Seel P H AT Hc 20 TRRR § a1 ol Bic BT HF 1 872

(A) O 10A
10A
(B) O 15.6 A(Chosen Option)
15.6 A (Chosen Option)
(C) O 11.55 A (Correct Alternative)
11.55 A (Correct Alternative)
(D)O 20A
20A

Question No. 28 / Question ID 416

What is the purpose of using Iamlnated core |n transformer?

SRBHER § S BR $T ITANT S+ H1 I3 1 82

(A) O Reduce mechanical loss
it &ifd Bl HH Y

(B) O Reduce hysteresis loss (Chosen Option)
%@ﬁ?ﬂﬂ g1 & HH B (Chosen Option)

(C) O Reduce copper Ioss
a9 BT+ DI HH DY

(D) O Reduce eddy current loss (Correct Alternative)
YaR YRT g1 B HH HAT (Correct Alternative)

Marks: 2.00




Question No. 29 / Question ID 169
What is the formula to calculate the resonance frequency?

gfaea SMafy &1 TUFT SR &1 I3 &1 82
MO 1
27.C
1
27.C
(B) O 1
——— | (Correct Alternative) (Chosen Option)
27+/LC
1
—— | (Correct Alternative) (Chosen Option)
27+/LC
(€) O 1
2+/LC
1
2+/LC
PO amic
21+/LC
Question No. 30 / Question ID 254 Marks: 2.00
What is the expansion of MCB?
MCB &I faR F1 82

(A) O Minimum Current Breaker
Minimum Current Breaker

(B) O Maximum Current Breaker (Chosen Option)
Maximum Current Breaker (Chosen Option)

(C) O Miniature Circuit Breaker (Correct Alternative)
Miniature Circuit Breaker (Correct Alternative)

(D) O Minute Control Breaker
Minute Control Breaker

Question No. 31 / Question ID 372 Marks: 2.00
Which force is required to move the pointer from the zero position in an indicating instrument?
ot Gohrde I3 H Yohas o Y fUfY T RIMIaRd 3 & e {6y 90 &t sraaesar gidt 82
(A) O Controlling force

CREIREPIERERGI
(B) O Air friction damping
Irg Yo HeA
(C) O Eddy current damping
Har YRT HeA
(D) O Deflecting force (Correct Alternative) (Chosen Option)
ICEGEEL] (Correct Alternative) (Chosen Option)

Global iTi Y8lFubeChannel




Question No. 32 / Question ID 1 Global iTi ¥pu&ubedChannel
What is the name of the safety sign as shown in the figure?

e 7 =i 7T QRen g &1 AW /1 67

(A) O Prohibition sign
e fag

(B) O Mandatory sign
TS g

(C) O Warning sign
EGIGEI]

(D) O Information sign (Correct Alternative) (Chosen Option)
IATHD s (Correct Alternative) (Chosen Option)

Question No. 33 / Question ID 332 Marks: 2.00
What is the purpose of ignitor in high pressure sodium vapour lamp circuit?
I ca1d TISTH I U Fiche # AR &7 aTd 1 e 1 872
(A) O Increases the running voltage

I T8 dleesl Bl SIdT &
(B) O Generates high voltage pulse at starting (Correct Alternative)
I HI W I dieesl UeH 3UF BT § (Correct Alternative)
(C) O Decreases the starting current
3MRIUF YRT P! UeTdl §
(D) O Increases the running current (Chosen Option)
11 H¥e ) FTAT | (Chosen Option)

Question No. 34 / Question ID 71 Marks: 2.00
Which is the property of a good conductor?
UH 3 A1AD BT 0T DI AT 87
(A) O Low specific resistance (Correct Alternative) (Chosen Option)
&9 fafkry IGRIL) (Correct Alternative) (Chosen Option)
(B) O Low mechanical strength
CLRIECANICS
(C) O High dielectric strength
3 WA
(D) O High specific resistance
I fafRe ufcRiy

Question No. 35/ Question ID 387 Marks: 2.00
What is the purpose of sole plate in electric kettle?

faggd FHac Wi Wi BT Iex9 1 872
(A) O Acts as an insulator for element
3faTd & foTt Ueh FaTad & U 8 &1 Hdl §

(B) O Keep the element in close contact with container (Correct Alternative)

3qUd P He-R & fAPpe HUd # 7 (Correct Alternative)




(C) O Acts as a balancing weight

TP e aoid & U § 1 a1 § Global iTi YouTube Channel
(D) O Protect the kettle base from damage (Chosen Option)

dad! 9 P HAM I 978 (Chosen Option)

Question No. 36 / Question ID 287 Marks: 2.00

What is the purpose of the fuse cut out provided at the incoming power supply?
ST fosTett SMyfcl & UG foht T TS S &1 35%9 1 872
(A) O To ensure the line is not over loaded (Correct Alternative)

g '\ﬂﬁﬁﬁ Y & e o5 ars sifduR T8I 8 (Correct Alternative)
(B) O To maintain the stabilised supply voltage (Chosen Option)

fRR 3MYfd dlecs §FY @ & AT (Chosen Option)
(C) O To protect the circuit from the leakage current

@ ool Be o FaH & fog

(D) O To protect the human beings from electric shock

difes ST &I fooiell & Siedh J Fa/ ™ ol 9

Question No. 37 / Question ID 291 Marks: 2.00
Which type of conduit is used for gas tight explosive installation?
Y eT3c [auhied RITIAT & T fh TR &1 dmage BT IUANT [T SITal 572
(A) O Rigid non-metallic conduits
HSR AP Hage
(B) O Rigid steel conduits (Correct Alternative)
FOR UTId P-SYC (Correct Alternative)
(C) O Flexible non-metallic conduits (Chosen Option)
ddidl 3fUTfde Hedc (Chosen Option)
(D) O Flexible conduits
GEIREaSH

Question No. 38 / Question ID 127 Marks: 2.00
Which factor is determining the value of capacitance in capacitor?
e o ¢iRaT 1 A B 1 PR Feffed Har 82
(A) O Volume of the plates
wicl BT S
(B) O Area of the plates (Correct Alternative) (Chosen Option)
wWiel &1 AT d (Correct Alternative) (Chosen Option)
©) O Thicl%gss of the plates

(D) O Weight of the plates
Wil BT HR

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 445 Marks: 2.00
How many millimetres are there in 1 inch?
139 1 oo ficfitier gia g7
(A) O 2.54 mm
2.54 mm

B) O 24.5mm
24.5 mm




(C)O 245 mm

2.45 mm Global iTi YouTube Channel
(D) O 25.4 mm (Correct Alternative) (Chosen Option)
25.4 mm (Correct Alternative) (Chosen Option)

Question No. 2 / Question ID 454 Marks: 2.00
What is the value for specific heat of water?

UMl B fafee w1 o1 71 |1 87
(A) O

4
4
B)O 2
2
C)O 3
3

(D) O 1 (Correct Alternative) (Chosen Option)
1 (Correct Alternative) (Chosen Option)

Question No. 3 / Question ID 442 Marks: 2.00
What are the two classifications of system of units?
P! B YOS & &l YBR DI 57
(A) O Metric and International
AP 3R FexAzHd
(B) O British and Metric
fofesr oiR e

(C) O Gravitational and non-gravitational
TSATHYT 3R IR-THATHYUT
(D) O Fundamental and derived (Correct Alternative) (Chosen Option)
Sﬁ?w (Correct Alternative) (Chosen Option)

Question No. 4 / Question ID 452 Marks: 2.00
What is called mass per unit volume of a substances?
forlt g & Soawm ufd 3HTS SIaa &1 1 FEd 572
(A) O Density (Correct Alternative) (Chosen Option)

Y- (Correct Alternative) (Chosen Option)
(B) O Weight

HR
(C) O Mass

GUHTT
(D) O Volume

SR

Question No. 5/ Question ID 455 Marks: 2.00
What is the boiling point of water?
Ot &1 FaYid 1 BIdT 672
(A) O 212°C
212°C
(B) O o°C
0°C
(C) O 100°C (Correct Alternative) (Chosen Option)
100°C (Correct Alternative) (Chosen Option)




(D) O 32°C

Identify the name of prism?

o # feRame U fOrew &1 A1 T 82

3200 Global iTi YouTube Channel
Question No. 6 / Question ID 446 Marks: 2.00
Convert decimal 0.000659 to fraction?
0.000659 XM fHF &1 YR {7 | §gai?
(A) O
B) O
(Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)
(C)O
(D) O
3) ENGINEERING DRAWING
Question No. 1/ Question ID 473 Marks: 2.00




Global iTi YouTube Channel

(A) O Pentagonal prism

(B) O Square prism
IR fireH
(C) O Hexagonal prism (Correct Alternative) (Chosen Option)
e (Correct Alternative) (Chosen Option)
(D) O Triangular prism
[ECAIIR AT

Question No. 2 / Question ID 479 Marks: 2.00
Which dimension correctlé/ marked in the circle as per standard?
A% & AR Jhd H DI 1 AW el o 3§ fIfgd 82




(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)

Global iTi YouTube Channel




Global iTi YouTube Channel

Question No. 3 / Question ID 480 Marks: 2.00
Which drawing dimension is correct as per standard drawing practice?
ST 31T & AR B A1 ST S el 82




Global iTi YouTube Channel

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)




Global iTi YouTube Channel

Question No. 4 / Question ID 484
|dentify the line 'b'?
A 'b' B UgATH?

Marks: 2.00




(A) O Dimension line (Correct Alternative) (Chosen Option)
ST ¥&1 (Correct Alternative) (Chosen Option)

(B) O Extension line
ICESIRG YIRS

(C) O Leaderline
GISSGIER]

(D) O Termination of dimension line

STATH YT Bt JHIGT

Global iTi YouTube Channel

Question No. 5/ Question ID 467
Which title block position is correct as standard practice?

T M 3 & =0 § D9 I e st R Tt 82

Marks: 2.00




Global iTi YouTube Channel

(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)




(D) O
Global iTi YouTube Channel

Question No. 6 / Question ID 476 Marks: 2.00
Identify the name of tool?
JUD U] hT qTH l4IEST4I"|"?

(A) O Hawk-billed shear
Blh-ford YR
(B) O Cutting plier (Correct Alternative) (Chosen Option)
CIGIR: NG (Correct Alternative) (Chosen Option)
(C) O Auviation shear
I DHRAl
(D) © Double cutting shear

€A PIe HaRA]

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 515 Marks: 2.00
Fill in the blank with proper pronoun. “She made this cake

Rad - & Ifad 998 & 1Y 4R | “She made this cake ”




(A) O himself
himself Global iTi YouTube Channel
(B) O myself
myself
(C) O Iitself
itself
(D) O herself (Correct Alternative) (Chosen Option)
herself (Correct Alternative) (Chosen Option)

Question No. 2 / Question ID 488 Marks: 2.00
A person with a growth mindset is always willing to
TS AT ARG aTel Afad gHRI ... dOR BT |
(A) O keep quiet
ERRERK]
(B) © become rich
3fHR &
(C) O relax
3RTH A |
(D) O grow, change, learn (Correct Alternative) (Chosen Option)
o1, aa?h, et (Correct Alternative) (Chosen Option)

Question No. 3/ Question ID 644 Marks: 2.00
Where all deleted files will be stored?
it f&efie &t it wred wel TR (@Usid) & omai?
(A) O Personal folder
NG ESHRIRAIER
(B) O Official folder
B RITE (3MfAHTRG) Hite
(C)O CD

(D) O Recycle bin (Correct Alternative) (Chosen Option)
Jarasa foq (Correct Alternative) (Chosen Option)

Question No. 4 / Question ID 568 Marks: 2.00
Communication that involves exchanging information without use of words is called
HRB L o el & JUART & o1 a1 HT SHTEH-UeH AT &, HEA §

(A) O non verbal communication (Correct Alternative)
T 9ad HRIIHII (Correct Alternative)

(B) O pictorial communication (Chosen Option)

U eIRgd HRIHDHRA (Chosen Option)

(C) O verbal communication
CENCASIBERNG!
(D) O written communication

RER 2 RERE]

Question No. 5/ Question ID 536 Marks: 2.00
Which one of the following is a good office etiquette?
fafied & § oF a1 Ue srs1 drfad RIVER 87
(A) O One should dress formally (Correct Alternative) (Chosen Option)

Udh P Sfu=Ti® =U | gne U iIT%G (Correct Alternative) (Chosen Option)




(B) O One should litter one’s work place

i B 30 HTH & VM R HST STAT AleT Global iTi YouTube Channel

(C) O One should have fancy mobile ring tone
T & Uy Bl Hiarge {1 S g1 91ig T

(D) O One should not be punctual to work

PHTH & 0T JHT &1 UTeic ol o1 ANQT

Question No. 6 / Question ID 505 Marks: 2.00
Choose the correct response for the given question. “How have you been”?
fau T Uy o fore Wgt TR T “How have you been™?
(A) O Thank you_And you?
Thank you_ And you?
(B) O On vacation_ And you?
On vacation_ And you?
(C) O Same to you
Same to you

(D) O Very well, And you? (Correct Alternative) (Chosen Option)
Very well, And you? (Correct Alternative) (Chosen Option)

Question No. 7 / Question ID 573 Marks: 2.00
Gesture “Brisk and erect walking” shows

"ol 3R YT I AT BTF-HTG oo AT s -
(A) O insecurity

(B) O confidence (Correct Alternative) (Chosen Option)
YT (Correct Alternative) (Chosen Option)

(C) O defensiveness

(D) O boredom
CIRGE]

Question No. 8 / Question ID 530 Marks: 2.00
Which one is an exclamatory sentence?
B b1 fawfeales are 872
(A) O What a beautiful house it is! (Correct Alternative) (Chosen Option)
What a beautiful house it is! (Correct Alternative) (Chosen Option)
(B) O Your house is beautiful.
Your house is beautiful.
(C) O Is it abeautiful house?
Is it a beautiful house?

(D) O Itis a beautiful house.
It is a beautiful house.

Question No. 9 / Question ID 607 Marks: 2.00
Same situation people should be treated in the same way
TS oIt R arel @l o 1Y Ueh ol a8 T ST e |
(A) O society
HS
(B) O equality (Correct Alternative) (Chosen Option)
HHTAT (Correct Alternative) (Chosen Option)




(C) O status

(D) O unity
Uohdl

Global iTi YouTube Channel

Question No. 10 / Question ID 596

Which one is the latest and effective means of modern communication?

MY TR BT TdHTH 3R THIE TIeH S 1 82

(A) O Postal mail
SEEK|

(B) O Electronic mail (Correct Alternative) (Chosen Option)
Eﬁﬂa"ﬁﬁ? aq (Correct Alternative) (Chosen Option)

(C) O Fax

(D) O Message through TV
et & A1egH Y™

Marks: 2.00

Question No. 11 / Question ID 642
What is the default name of newly created folder in windows?
IS & THIT 7T U WiceR FT fSWhiee ATH T 8T 872
(A) O New folder (Correct Alternative)
?{[\Iﬁﬁ'\' (Correct Alternative)
(B) O New
q
(C) O Blank
P

(D) O Folder (Chosen Option)
IR (Chosen Option)

Marks: 2.00

Question No. 12 / Question ID 701
NAPS Stands for
NAPS &l Hdcld
(A) O National Appointment Promoting Scheme (Chosen Option)
National Appointment Promoting Scheme (Chosen Option)
(B) O National Advertising Promotion Scheme
National Advertising Promotion Scheme

(C) O Non Apprenticeship Promotion Scheme
Non Apprenticeship Promotion Scheme

Marks: 2.00

(D) O National Apprenticeship Promotion Scheme (Correct Alternative)
National Apprenticeship Promotion Scheme (Correct Alternative)

Question No. 13 / Question ID 622
CPU stands for
"CPU" I Al & -

(A) O Central Programming Unit
Central Programming Unit

(B) O Central Processing Unit (Correct Alternative) (Chosen Option)
Central Processing Unit (Correct Alternative) (Chosen Option)

(C) O Central Planning Unit
Central Planning Unit

Marks: 2.00




(D) O

Central Progress Unit
Central Progress Unit Global iTi YouTube Channel

Question No. 14 / Question ID 491 Marks: 2.00
Values are

s ..

(C)O

(D) O

all have same value

T o1 e T §

Motivates our attitude and action (Correct Alternative) (Chosen Option)

TUN eI 3R WTE: CARIEGE TG % (Correct Alternative) (Chosen Option)
not punctual

THYMAY 5l

very costly

CRSEJLGI

Question No. 15/ Question ID 612 Marks: 2.00
PIN is

PINE.

(A) O
(B) O
(C) O
(D) O

Personal Identification Number (Correct Alternative)
Personal Identification Number (Correct Alternative)

Professional Income Number
Professional Income Number
Professional Identification Number
Professional Identification Number

Personal Income Number (Chosen Option)
Personal Income Number (Chosen Option)

Question No. 16 / Question ID 582 Marks: 2.00
Which one is 3P’s of public speaking?

yfsrs Wi 3t 3 P R 82

(A) O
(B) O
(€) O
(D) O

Possess, Present, Practice
Possess, Present, Practice

Perfection, Performance, Painstaking
Perfection, Performance, Painstaking
Prepare, Practice, Perform (Correct Alternative) (Chosen Option)
Prepare, Practice, Perform (Correct Alternative) (Chosen Option)

Publish, Pleasant, Perfect
Publish, Pleasant, Perfect

Question No. 17 / Question ID 672 Marks: 2.00

Money invested in purchasing of raw materials, payment of wages and salaries, rental, electricity etc
comes under

e AT Bl TRIG, ASIGI! 3R IaH, fm, faroredt onfe & yram & fawr fapan mmam O emran 21




(A) O working capital (Correct Alternative) (Chosen Option)

GSit (Correct Alternative) (Chosen Option) Global iTi YouTube Channel

(B) O fixed capital
31are gt

(C) O long term capital
FREAIN GRSl

(D) O capital income

USRI 311

Question No. 18 / Question ID 646 Marks: 2.00
Which one is a “Don’t” of information security?
LI GRET B D el ST
(A) O Disclose password to anyone (Correct Alternative) (Chosen Option)
3t UrHaS FarET (Correct Alternative) (Chosen Option)

(B) O Use hard to guess passwords

URIGS &1 SH T & ol HIS Tt ST
©) O Encrypt laptop hard drive and mobile devices

, BTS ST IUT AT A SUDRUN B UfshP HRAT

(D) O Take backup data of your PC periodically

THG-THT TR 30 Ui BT 93U S ol

Question No. 19 / Question ID 496 Marks: 2.00
1st industrial revolution started in
ggat SN wifd & Lo ... |
(A) O 21stcentury (Chosen Option)
21 9t ¥l (Chosen Option)
(B) O 20th century
20 df 9!
(C) O 19th century
19 Y Tl
(D) O 18th century (Correct Alternative)
18 &Y I} (Correct Alternative)

Question No. 20 / Question ID 688 Marks: 2.00

Which of the following is not true?

T ¥ B 91 9 AR 82

(A) O Ask each customer the same set of questions. (Correct Alternative) (Chosen Option)
TP AT6P I GHH Uy qﬁ'l (Correct Alternative) (Chosen Option)

(B) O Establish trust by focusing on customer needs and not on your product.
UEh] DI TRl UR T digd HIdb [AYM RITUT B A b 30 Iarg W

(C) O Only ask relevant questions
PHad UNIRTS Uy g

(D) O Ask the questions with a genuine focus on understanding your customer in order to meet their
needs

3T UTED| P SRl ! IR HR & ol I8 A TR IRATAD &M & 1 Y U

Question No. 21 / Question ID 637 Marks: 2.00
What is a shortcut key for ‘Copy” command?

"HIA" HHIS & Y Aicdhe P (Hoit) T &2




(A) O Ctrl+A
Ctrl + A Global iTi YouTube Channel
B) O Ctrl+X
Ctrl + X
(C) O Ctrl + C (Correct Alternative) (Chosen Option)
Ctrl + C (Correct Alternative) (Chosen Option)
(D) Ctrl+V
Ctrl +V
Question No. 22 / Question ID 509 Marks: 2.00
Fill in the blank with comparative adjective. “Your pencil is than mine”
GNRIGED IR & a1y Rad RIF 1R 1 “Your pencil is than mine”
(A) O sharper (Correct Alternative) (Chosen Option)
sharper (Correct Alternative) (Chosen Option)
(B) O blunt
blunt
(C) O thick
thick
(D) O sharp
sharp
Question No. 23 / Question ID 561 Marks: 2.00
This intention to move out of one’s place to another for better jobs is called .
JEcR IHal F ot Te WM J g WM R 9 & 39 WS Bl ST I g |
(A) O Mitigation
RMHA
(B) O Litigation
ST
©) O %g%tion
(D) O Migration (Correct Alternative) (Chosen Option)
YdTH (Correct Alternative) (Chosen Option)
Question No. 24 / Question ID 617 Marks: 2.00
A program that infects other program by modifying them is called
T U, ST 30 TR &1 SR SR 376 Fohisd HXAl 8, S ............ HET Il g |
(A) O note pad
e IS
(B) O antivirus
UarRY
(C) O virus (Correct Alternative) (Chosen Option)
dIaY (Correct Alternative) (Chosen Option)
(D) O web page
Question No. 25 / Question ID 678 Marks: 2.00

What approach is used to gain access to foreign markets and quickly prom

ote an organizations interest?

ISRl TORY % Uga W H=A 3R 6! & 8d Bl Sed! Fgrdl o & e [ efBHIvn &1 Iy foha

ST 872
(A) O Technology transfer
SERICARESIGRY




(B) O Joint venture (Correct Alternative) (Chosen Option)
H"QTR'[ J<JH (Correct Alternative) (Chosen Option)
(C) O Licensing

(D) O Collaboration

Global iTi YouTube Channel




